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




 
2Le flux magnétique: 

1.2 


 

 
S 

 
 
 


 
ΦB 
Sα 

 

S

B
α

Φ = B S cos α
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WeberWb 
2.2 

N 
 
 

3.2 
Faraday 


 

 





 

 
 





 

 
 
e

 
ΔΦ 
Δt 

 
 

 
e 

eV 
 

Φ = N B S cos α

Δt
ΔΦ|e| 
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Lenz 
 

 
 


 
 

 
 
 
 


 


 
  
 


 

 
 

e 


Δt
ΔΦe 

dt
dΦe 
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3

7

  2L'auto induction 

1 
1.1 

 
 

 
 
 
 
 
 
 
 
 
 
 
 

2.1 
 


 
3.1 
i1Φ 
 
i10

Φ0Δt
ioi1io> i1

 
 
0i10

ΦΔt
ifi1if > i1i2

if 
4.1 


 

L

i

i1
i2




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 
2 

1.2 


 
Φ = N.B.S 

 

.I
L
NμB 0 

.I.S
L
NN.μΦ 0

.S.I
L

NμΦ
2

0

.S
L

Nμ
2

0L
L
S.NμL 2

0 

(Henry)H 
2.2 

L.SΦ  
eL 

dt
dΦeL  

 
dt
L.IdeL  

dt
dILeL  

 
3 


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